## **Project Name Recycled Water Recovery Well Drilling** Spec. No. WW24-01 Abstract of Bids opened on June 27, 2023

**ENGINEER'S ESTIMATE: 575,000.00** 

LOW BIDDER -

548,118.00

Zim Industries, Inc. dba Bakersfield Well & Pump Company

Bakersfield, CA 93308

2nd Bidder -

1,116,464.00

Gregg Drilling, LLC Signal Hill, CA 90755

> The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, 'County or ventura at the units and designated in the Notice Inviting Bids, were publicly opened and read; and

> > Director, Engineering Services Department

Copies: Director PWA, PM: Ryan Lippincott

Bids o	Bids opened on June 27, 2023			ENGINEER'S ESTIMATE	CTIMATE	ם שטים איט ו			5	T
				LIACINELIASE		בסעו פוטטבא		zug Bidder		
7 0 0	Project name Recycled Water Recovery Well Drilling					Zim Industries, Inc. 7212 Fruitvale Ave.	Zim Industries, Inc. dba Bakersfield Well & Gregg Drilling, LLC 7212 Fruitvale Ave.	Gregg Drilling, LLC 2726 Walnut Ave.		
	Spec. No. WW24-01					Danei Sileiu, CA 33300	9200	Signal HIII, CA 90755	g	
ITEM	V									
Š.		IN	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
-	Mobilization and Demobilization	rs	-	60,050.00	60,050.00	100,000.00	100,000.00	147,200.00	147.200.00	77
7	Conductor Casing (40-feet)	က	-	40,000.00	40,000.00	35,000.00	35,000.00	40,000,00	40.000.00	
က	Pilot Hole	ц	260	185.00	48,100.00	250.00	65,000.00	1,085.00	282,100.00	
4	Geophysical Logging	rs	_	4,500.00	4,500.00	7,500.00	7,500.00	6,500.00	6.500.00	
വ	Reaming Pilot Bore	Ч	230	175.00	40,250.00	250.00	57,500.00	1,530.00	351,900.00	
ဖ	Caliper Log	S	_	3,500.00	3,500.00	3,500.00	3,500.00	3,500.00	3,500.00	
_	16" Type 304L SS Well Casing (0.25" wall)	느	102	510.00	52,020.00	430.00	43,860.00	420.00	42,840.00	
<b>∞</b> (	16" Type 304 SS Well Screen (0.06" Slot)	ے	170	650.00	110,500.00	495.00	84,150.00	520.00	88,400.00	
თ :	Gravel Feed Tube SS (3" Inside Diameter)	Ľ	62	225.00	13,950.00	84.00	.5,208.00	250.00	15,500.00	
10	Centralizers (4 Sets)	EA	4	200.00	800.00	375.00	1,500.00	00.009	2,400.00	
- ;	Gravel Pack Envelope	Ľ,	245	125.00	30,625.00	100.00	24,500.00	00.09	14,700.00	
72	Cement Sanitary Seal	<u>Ľ</u>	25	150.00	3,750.00	200.00	12,500.00	160.00	4,000.00	
<u>ان</u>	Well Alignment Testing	r <sub>S</sub>	-	4,000.00	4,000.00	3,500.00	3,500.00	10,000.00	10,000.00	
4 ,	Swab and Bail Development	Η̈́	တ	800.00	7,200.00	1,200.00	10,800.00	650.00	5,850.00	
15	Swab and Airlift Development	또	11	1,500.00	16,500.00	1,200.00	13,200.00	650.00	7,150.00	
9 ;	lest Pump Installation and Removal	P	_	25,000.00	25,000.00	35,000.00	35,000.00	25,824.00	25,824.00	
<u> </u>	Hydraulic Well Development	Ξ	32	850.00	27,200.00	350.00	11,200.00	650.00	20,800.00	
<u></u>	Well Production Testing (4Hr Step+8Hr Constant)	Ŧ	32	850.00	27,200.00	350.00	11,200.00	650.00	20,800.00	
13	Disinfection of Well	rs	-	7,500.00	7,500.00	5,500.00	5,500.00	12,000.00	12,000.00	
8 8	Video Survey	rs	_	4,000.00	4,000.00	2,500.00	2,500.00	5,000.00	5,000.00	
17 6	Well Pad	S	_	00.000'9	6,000.00	10,000.00	10,000.00	5,000.00	2,000,00	
77	Site Clean-Up	rs	-	42,355.00	42,355.00	5,000.00	5,000.00	5,000.00	5,000.00	
	TOTAL			ļ	575,000.00		548,118.00		1,116,464.00	

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified b bidder

Copies: Director PWA, PM: Ryan Lippincott

Spec. No. WW24-01 Project 32808

## **LIST OF SUBCONTRACTORS**

CONTRACTOR NAME: Zim Industries, Inc. dba Bakersfield Well & Pump Company

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Hogg Drilling Specialty Construction, Inc.	#829276	1000021704	19632 Brimhall Rd - Bakersfield, CA 93314	Conductor Casing Borehole
Pacific Surveys, LLC	N/A	1000014306	4456 Via Saint Ambrose - Claremont, CA 91711	Logging & Video

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

County of Ventura,	Public	Works	Agency
Subcontractor List			

Spec. No.WW24-01

## **LIST OF SUBCONTRACTORS**

**CONTRACTOR NAME:** Gregg Drilling, LLC.

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Pacific Surveys	5054586	1000014306	4456 Via St. Ambrose Claremont, CA	Geophysical Logging
Hogg Drilling	829276	1000021704	19480 Shafter Ave Bakersfield, CA 93314	Conductor Casing
Costera	1068264	1000679445	25691 Atlantic Lake Forest, CA 92630	Waste Disposal
Rain for Rent	904992	1000007030	3404 State Road Bakersfield, CA 93308	Discharge Water Piping
ı				

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.